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Question 7 {2.3.1} (5 marks)

Prove by that for overy positive real number x, ~- < ‘:;
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Question 8 {1.3.1,2.3.1} (5 marks)
A propositon states that for any integer , if n* —4n—3 is even, then is odd.

(a)  Wite the contrapositive of this proposition. (1 mark)
T oni even Hen atilined wodd v

©) Use the conrapositve siatement o prov th proposiian s e, (@marks)
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END OF TEST

6lPave




image1.png
Mathematics Department Perth Modem

PERTH MODERN SCHOOL

B inaependent public school

Course: Mathematics Specialist Year 11 *
Test 12021

y ,
Student name: M“'A“‘j /Kz:j Teacher name:

Date: 19" February 2021

Task type: Response
Time allowed for this task: 40 mins
Number of questions:  Eight
Materials required:

Standard items: Pens (blue/black preferred), pencil (including coloured), sharpener,
correction fluid/tape, eraser, ruler, highlighters

Special items: Drawing instruments, templates

Marks available: Hhmarks T4

Task weighting: 10%

Formula sheet provided: No

Note: Al part questions worth more than 2 marks require working to obtain full marks.
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Question 1 {2.3.2} 4— (Fmarks)

Show that 3.467 is a rational number. /
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Question 2 {1.3.1} 3 harks)

Consider the statement “Ifthe rver foods, hen schaol wil be cancelled.

Assuming ths {0 be e statement

(@ Wits down the contrapositive of the statement. 0
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Question 3 {1.3.1}

(3 marks)
‘The statement if a natural number is  multiple of 4 and a muliple of 5 then the natural number is a
multple of 20's true. Write the contrapositive of the statement and explain whether or not the
contrapositve is also true.
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Question4 {1.3.1} (3 marks)

You are traveling to a town and come to a point where the road spils info two (ie a fork in the road).
‘There are two people (Person A and Person B) standing al the fork and as you do not know which
way 10 go you nead to ask for help. It s known that ane of the people vil alivays lie and the other wil
always tel the truth. You can only ask ane question to only one of the peaple. The quastion you sk of
Person A is "Which road would the offer person tell me 1o take?"
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Question 5 {1.3.1, 2.3.1} (4 marks)
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(7 marks)

Question 6 {2.3.1}

) An arithmetic sequence is a st of numbers which has a first term and a common difference, For
the sequencs (5,9, 13, 17, .} the firstterm is 5 and the common difference is 4

() Wrkte down the next three terms of this sequence. (1 mark)

21,25, 29

(i) Choose any three consecuive terms and show that the sum of these terms is a multiple of 3.
(@ marks)
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b) Prove that the sum of any three consecutive terms of an arithmetic sequence with firstterm a and
common difference d is always a multple of three, for a,d M. (4 marks)
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